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Use separate answer books for each Group.

effeft [AeiaF Gy 93 Teqsiq a2l FC@l

Group-A / Teie-F
[Full Marks: 50]
Answer any three questions from the following:
el @-ceiet foqfe etz Teq wies

Ram used to buy egg-rolls regularly. After he got a good pay like his
demand for egg-rolls fell sharply. What might be the possible shape of
Ram'’s Engel curve for egg-rolls?

 fafire Wai-EieT fFa0el, ©OF ST (@ ST AT T G91-RIER &) Ol
pifzwl O AR, G- &rej S G&ieT @WWWI?N (P 209 AT 2
Differentiate between isocline and aridge line.

G5 SEENFHIRA (isocline) © a6 ARASOR 2NSTELR Wxg AL et Fat

Suppose the total cost function is given by C =16+ Q?. Illustrate the shape
of average cost and marginal cost curvesin adiagram.

S IR @G [T SFFSH 261 C =16+ Q? | @I @fHrad 7idl 916 57 @ alifes
T S wige 3 Tt

Use demand and supply curves to show unstable equilibrium and explain.
Bifewl @R @I @21 IR IR SFERed @i (Unstable equilibrium) (e
AR I RN

Show that the expansion path for a Cobb-Douglas production function is a
straight line through the origin.

(1S (A AN GLAT SCHTFCHR CFCG IR 212 367 [Rgal S ATl 26 |

Answer any one question from the following:
AT - 915 2ltaF Tee mies

How can you distinguish between the Hicks approach and Slutsky’s
approach to decompose the price effect into income effect and substitution
effect?

Full Marks; 100

2Nf&F Js7 FTE F G YN et Ped
AT ST SR T2 ST AT T
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WIS 2RSS T 2 8 RS @eld Reret (i i [FelR & ¢ #lvkE-
93 7w LTSI (TR 9
(b) Argue whether the following statements are true or false:
e Sfewf 3 71 e o fereria [ve Fes
(i) Ordinary demand curve is more elastic than the compensated demand

curve.

FefE T T A Sifgnl @ woos iRl @¥E (6w wifiee
(B

(i) The sum of own-price elasticity, income-elasticity and cross price

elasticity of demand is zero.

@ (I TR BifzwiE wivste Ffogvrel, wete Ziogrrel @R Amis
wINeS FRfeE7ITeln (@isre %) 23|

3. Answer any two guestions from the following:
fersfeife @-ceiea 7fo aeis Tea wies

(@) Explain the concept of stability of equilibrium. Is a Marshadlian stable
equilibrium necessarily Walrasian stable? Explain your answer.

A FfEe SR e F @@ ¢ @ SR aHiE-a3 el e, o &
SYFAN-3F SIS HFe 26 THIBI 9 1 FCAN |

(b) The production functionis X = AK“L? where a + B <1.
(i) Show that there are decreasing returns to scale and prove that the total

product is greater than k times the marginal product of K plus| times the
marginal productivity of L where k and | are quantities of the factors K
and L respectively.

@ @Fh Teomd SomE X = AKOL medl WIitg, @A o+ f<11
WS (@ oGS Afenicrd W qrHig e 231 SHe @i I @ k
@R | T4 K @R L @3 2/t ot $a0g, 9949 (i Sesiwmea wifastie k @t K
-3 &llfe Teone @3k | @ L @3 2ifes Seaivias 718 oo @

(i) What is elasticity of factor substitution? Prove that the elasticity is unity

© (0
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for Cobb-Douglas technology. Is the assumption of constant returns to
scale necessary for your proof?

T FeacTa fRogvee! Je1e & @RI 2 @i F6 @ Cobb-Douglas
TAWH SCHFFE &) O W @F | SToG e FARF efonitas o 4@
(e 1 (I &R &y 2ATNSAI 2

Suppose Rakhi views butter and margarine perfectly substitutes for each
other.

&) A AN T R T @ TS QT S 7 7177 |

(i) Draw aset of indifference curves that describes Rakhi’s preference
pattern for butter and margarine.

REACERCRIEREACECEIal
(i) Aretheseindifference curses convex? Why?

@3 faeors @alef [ s o @ 9
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(iii) If butter costs Rs. 20 per pack and margarine costs Rs. 10 per pack
and if Rakhi’s money income is Rs. 200, which butter-margarine
basket will she choose? Can you show your answer graphically?

T AR Wi &S 6 20 Bl @ SR s 10 Bl 27 @3k Al
S =T 200 BRA! 27 O A & 2Afsiel M4 @ AR [Keyed 2 oo
Tedlb (@4ibrad qidl (wAITS AN 2
(I1) A consumer spends her income on two goods X and Y. If an increase in 5
price of X by Re. 1 leaves her consumption of Y unchanged, what is the
price elasticity of demand for X?
41 AP GFE (SIS O B X @R Y 4o Wera TR ¥ 61 X wyfoa wis
GFOIF AT (OFR Y TR At weiiafSe A X wiea sifzee
weNe Zfegieime ol 9

(d) Suppose the production function is Q = ALK, 10+5

(i) Derive the long-run average cost and long-run margina cost curves of
the firm for the above production function.
Q= ALK -3 Teolve o 20 FIGH AN 91C 7 € REFae
2N 3 @ [ =

(i) What is the expansion path of a firm? Is there a link between expansion
path and long-run cost of production? — Explain.

G {6 TR REE 2120 F 9 @3 12 ¢ TLFR T TR @I @I9P5g =NCg
5 o i

Group-B / fTeta-2
[Full Marks: 50]

4, Answer any three questions from the following: 4x3=12
AEleTe @-GIE! foaft et Ted nies
(8) How are inventoriestreated in National Income accounting?
TSI SN W el Wege 2140t fFeica [Rcawa w1 23 9

(b) If I =1 +ay, what isthe stability condition in an otherwise Keynesian cross
model ?

M | =1 +ay 2SR FETI F MOCER BN0T =S [ 27 9
(c) Distinguish between CPI and GDP deflator?
core wis < @ & TS 12 forzrva @3 g =iy el v
(d) What is meant by classical dichotomy?
“gibreE faferes” e 6 @I 9
(e) How does an adverse supply shock affect the economy?
2o @i SIfedre Fei@ sdaiiors oo 30 ?
(f) What is paradox of thrift?
fire e wieiie Readrel S e ¢
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5. Answer any one question from the following:
TS @-I 935 2iv Teq wies

() Write a note on the impact of technological progress on output, employment
and price level in the classica model.

FIPRRI NCBCE T, e € WINwEE Soitd ayfes siaaifer eer Raw ¢
Bt =Teat

(b) Discuss the concept of Balanced Budget multiplier using IS-LM model and
Keynesian model.

IS-LM model @R @I SCSER AR T FIEPTS ATS6 @edd el
IO B

6. Answer any two guestions from the following:
fasferre @-coeat 7ft elcss Teg wies

(@ In the ISLM model what happens to equilibrium rate of interest, income,
consumption and investment under the following circumstances:

IS-LM (S ©RPAS AoE 27, O, (ol I3 ¢ RINEIeR 82 & aer e
L -
(i) When Central Bank raises money supply through open market
operations.
L (U PR (AN ISR FIRAIEE NG S Q@i I A0

(if) Government raises tax but keeps the rate of interest unchanged through
monetary policy.

TR 7L fEF e (g o 7 RS e e Fw@ 27 3G
FE

(b) “Fiscal and monetary policies differ in their impact on the composition of
aggregate national output.” — Explain.

‘el TSR WA SR 7 el e oW Aermaite ¢ S Tfeq W
(1203 7% A1 — PN
(c) (i) Explainthe Keynesian concept of underemployment equilibrium.
SECURSGRICIAS ElRER BRI I RN c

(if) Compare the effectiveness of Fiscal policy between IS-LM model and
complete Keynesian mode!.

IS-LM SCTE @R S (ST NS e fRrompiet Sifes sidsifael wer

N
(d) Write notes on the following:
e Ranefm Bl @
(i) Liquidity trap
(ii) Equilibrium rate of interest in the Classical model.
FIFRRIET CCCET SIRPTIY 707 B |
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Use separate answer books for each Group.

efeft eItz eay 92+ Tex9lq I3 Feal

All symbols are of usual significance.

Group-A
Ren-5

1. Answer any three questions from the following: 4x3=12
feafere @-iel forft @ivew Tes nies
(a) Distinguish between correlation approach and regression approach to the
analysis of bivariate data.
%-5eTas wr2a et 72ofe “1afe ¢ Meqd oimfen sy #ndy oo el
(b) Discuss uses of Geometric Mean.
@elies Sltes [Kifon el @

(c) If AM. and G.M. of two positive real numbers are 10 and 8 respectively,
find their H.M.

b AW LIS WA (T 9T QR @eNed 91 G 10 Gk 8, ©ind e
e aie el s

(d) Provethat by by =r?

2N Tl by, -b =1 2
r = correlation coefficient, 32aif® 72k,
byx = regression coefficient of y on x
by, = regression coefficient of x ony.
(e) During acertain period the cost of living Index Number goes up from 110 to

200 and salary of aworker is aso raised from Rs. 325 to Rs. 500. Does the
worker really gain? If so, by how much?

@ @36 IR M GRS 110 (RCF @0 200 TR & T @
GFer # ([T 325 GBIl (AT (0T 500 GBIl 2R | @ #f5s fF #(e)2 aed
RO 9 (ST FO0 9
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(f) Explain different components of atime series.

O Fia A [fey Tonrafe G5 9

2. Answer any one question from the following:
feafere @-Ie 96 2ivaa Tes nies
(@ (i) What do you mean by dispersion?
R5fs Fere & @i ¢

(ii) Show that Zn:|x| — A isleast if A= Median
i=1

@S @ Zn:|>q — A -G I FEOT T IA A = T
i=1

(b) (i) How will you explain kurtosis of a frequency distribution?

@I g3 “fFR A [Reraa Sl aRe e s

(ii) Show that Bowley’ s measure of skewness lies between +1 and —1.

A8 (T Bowley’ s 2fo@asy AAsieiela s +1 (e —1 W& A |

3. Answer any two guestions from the following:
fasferie @-cea 76 elvss Teg wies
(@ (i) What is coefficient of variation?
(SR FICF 01 2

(i) If ax+by+c=0isthe relation between two variables x and y then find

the correlation coefficient between x and y.

Tt 4fb 5679 X @R Y- T FRF ax+ by +c=0 T, O@ X 4R y 5&7F Yo

2-9RAO BT (4 IR |

(iii) Find median from the following data.
forsa R e e Sz s e s

Weightinkg | 36-40 | 41-45 | 46-50 | 51-55 | 56-60 | 61-65 | 66-70
KnRSGiia) e

No. of person | 14 26 40 53 50 37 25
(ETIFRAT

If mean is 54.3 kg, comment on the shape of distribution.
I 9% = 54.3 kg 2 O W=t sl 5w 203 9
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(b) (i) Calculate Quartile Deviation.
‘Quartile Deviation' <7 3t

Class 90-99 | 100-109 | 110-119 | 120-129 | 130-139 | 140-149
e}

Frequency | 65 69 76 34 42 27
AR

(i) If frequency, mean and standard deviation of two sets of observations
be denoted by n, X, o, and n,, X,, o, respectively, then show that

2_ ot +Nyo5 +nd? +n,d3
c n+n;
where d; =X —X, d,=X,—X
o? = variance of composite set
X =mean of composite set.

@I b Y2 @R AR AR, @S e, e [pyfe e
n, X, op 4R Ny, X,, 0, MAS A

52— ot + N0 +Ndy +n,d;
n+n,
@A dy=% X, dy=%X,—X
o’ = ARIfeTe v conwid
x = AfRfere @red (@ 51
(c) (i) What arethe uses of Index number?
5 MY JA e 6 6 o

(i) Compute the Marshall-Edgeworth price index from the data given
below:

faferfis w2y (e Tfie-qw e wis a5 sk fefa et

Commodity 2012 2017
gl Price | Quantity | Price | Quantity
wis | oAfaser | s | oA
A 2 74 3 82
B 5 125 4 140
C 7 40 6 33

(iii) Discussthe problem in the construction of index numbers.
53 w2 fficeta wrca ffem smie s st st

1036 3
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() (i) Showthat r_ =9
XY T Al UV
sl

X -a Vi:yi—b
d

a, b, ¢, d are arbitrary constants, c=0, d =0

where u; =

r = correlation coefficient.

cd

RS (@ r, =—r,
Y olelid |

Wui=xi_a Vi=yi_b
c d
a, b, c,d=&<F, c20,d=0
r = 729 @oF )
(i) Given Y x=125, > y=80, Y x*=1585, 8
> y?=650, > xy=1007, n=10.
Calculate (i) correlation coefficient r, (ii) two regression equations
e g » x=125, Y y=80, Y x*=1585,

> y?=650, Y xy=1007, n=10.
@t (i) 2ol we r, (ii) 7o freae ATw=el

Group-B
Reta-2

4, Answer any three questions from the following: 4x3 =12
e @-@IE! foqft ae7 Ted nies

() Define convex set. Give two examples of convex set in economic analysis. 2+1+1
Give two examples of increasing economic function.

‘Convex set’ 318 & @I 2 Convex set-@3 ¥ib Twizgd wie A S<fdifeq
SENHAE IJIT© T, FAIE FLATST S 9o Swizdel s |

(b) Consider a firm with the production function Q=K %°L%® with P, = Rs. 9 4
and B,_= Rs. 4. How much of the two factors will the firm use if the desired
output is 30 units?

A I G0 FICR TeAme SorFF 251 Q=K 105, @A P = 9 Bt @k
P = 4 5, FIcH Sesiime 3t 30 935 2 Siegat Soiwie 16 ¢ T 2/ I3
FAE 9

1036
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If the marginal cost function is

MC=2+3,/Q +5/,/Q find thetotal cost function F(Q), when F(1)=21.

I 2fes 7 et MC=2+3,/Q +5//Q =, &5, I8 So=F F(Q)
fafa e, 799 F(1)=21.

Obtain the equilibrium values of national income Y and saving S for
consumption functions C=25+0.7Y and investment function | =5+0.2Y .

What will happen to equilibrium saving(S) if autonomous consumption falls
to 20?

Colal SoFE C=25+0.7Y RS Sorss | =5+0.2Y 2(E, SR 97 (Y)
GR FEEF (9 ARy A= 7 Tt W TIES (S1RI B (27 20 =, @
Sy Feed [FeiE 7o 2@ 9

Show that income share weighted average of income elasticities is unity and
show that two goods cannot be ‘ Superior’ in atwo good world.

@A (@ WER SRR ST dFI*e SRt Ffewivmer 7uE e 7N+ a3
8 (@ 916 TR 2JfRIFI0o T17%d 9309 “ Superior’ 20 2t |

Answer any one question from the following:
RS @-Ie 935 et Tes nies
Derive the value of the balanced budget multiplier in alS-LM model. How

does its value Differ from a simple Keynesian Model? Can they be equal ? If
yes, when?

ISLM ST (A SR ACEH WOF W (767 Il [Foi @2 @@ e
HRGT (P ACT(ETR SCHH W+ (A SNl 203 9 92 716 [ 3 I 209 A 9
T 2, T4 2

The market demand function of a competitive industry is represented by
Q=10.5-P,where Q is the quantity and P is the price. All firms in the

industry have identical cost function C=q-q°+0.5¢°, where C is the cost
of afirm and q is the quantity of output produced by each firm. Calculate

(i) Theoutput produced by each firmin the long run

(i) Long run equilibrium price

(iii) The equilibrium number of firms.
efsrifergeTs s e vifewl SeemFs Q=10.5— P, @R P 2 @i @R Q
T AGEE e, i ofe St afeviem I @Al wfew
C=g-g°+0.5q°, C 43 Teoive afSpicra I7 @R q Ot Tesiifrs w
At |

fefa e

(i) @il Sevte oifodim A Beotte,

(i) P SN 7,

(iii) SR Sestve AfSDiea 7R |

3+1

3+1

8x1=1

4+2+2

4+2+2
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6.

Answer any two guestions from the following:

faferie @-cea 76 elvse Teg wies
@ ()

(i)

(iii)

(i)

(i)

(iii)

) (i)

(i)

(i)

(i1)

© ()

1036

(i1)

State the Slutsky equation for a national consumer and deduce from it
that a Giffen good must be an inferior good.

Show that for the utility function u=q; - g,, the Income-expansion path
isastraight line from the origin.

If U=Y2%.12 isthe utility function of a person where Y denotes wage

income and L denotes leisure time enjoyed (per day basis). Find out her
optimum leisure when the wage rate is Rs. 100 per hour.

Slutsky =G @Al @R @3 FNFED (@ e @ 936 Fices 7144
G0 [WFE 2fely |

THARIS SRS u=q,-0, 20, MAE @ WF (o @l T 0
TS o TR

9F F&q TAN weows U =Y 23 Y3 @i Y 2o1 T 91w =g @3k L
Ze Rlic s (Cnfee feferse) | Tfv sgfee 219 961 9ig soo Bivl 27, o
I T S F© 24 2

Consider the production function Q=LK?. Find out the longrun cost

function associated with it. How does the average cost behave with
change in output?

Consider the following static model.

q® =a+bp(a>0, b<0)

g°=c+dp(d >0, c<0):

Examine the effect of aunit tax ‘t" on the price in this model.

T FCE @B TeAmE SIS 7 Q=LK 2 wfEE A 3 @i
fdfiae Tt Sesiiwe RIS 7o 7 91T 7 [Feir Ao zx o

e g reeba oweg Seomes @ aas forg 't 39 P =4,
R IR &9 SR 2Ol foefi@et Tl |
q® =a+bp(a>0, b<0)

g°=c+dp(d >0, c<0)

In the following model of coffee and sugar, demand and supply
functions are given as

D.=100-5F.—-P,; S,=—20+2P,

D,=80-4P,—-2R,; S,=-10+P,

Using matrix inversion, determine the equilibrium prices and quantities
for the two goods.

Using Cramer’srulein alS-LM model, show how equilibrium national
income and the rate of interest will change as a result of increase in the
autonomous consumption expenditure.

15x2 =30

4+4+7

8+7

8+7
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(i)

(iii)

(i)

(i)

(iii)

GG A P @ ol vifent 8 @i Sorraefe 213
D,=100-5P.—P,; S,=—20+2P,

D,=80-4P,-2P,; S,=-10+P,

TS [ReRIeeel-a3 AR TG0 SR Wi @ ~Afs fNdfime S|

@F0 |S-LM TS (FHE 2Mafe U F(F, M8 FeIR@ SR sror
SR =R o B AT 2ea A g celsl 31 i AR

Show that if a consumer maximizes his utility subject to a budget
constraint from one given utility index, she will behave in identical
fashion irrespective of the utility index chosen as long as the index
selected is amonotonic transformation of the original one.

Prove that in atwo commodity world, expenditure share weighted sum
of own price elasticity for the first commodity and cross price elasticity
of the second commodity equals expenditure share of the first
commodity with a negative sign.

Given AR=60-3Q, find the total revenue function and the marginal
revenue function.

@dle @ AW @ (e FiHe ATHE MATE @I 24w T2 o
CFT TR TN A I, OIRE MAMS SN pF MR @
STl WA FAE T0TF9 & TANNS IS ZEE! 61 IPCed TP
FoNe 23|

2 IR @ 12 79 [T oRSe 1a0d e eT aFiRe &9 T
ey v fEfomrmel @ ol w@a s v oz eor 7w
23 T T2 00T S N (58 Ao Ho[fiE

R AF AR=60-3Q GTFCT (G W Gk 2ifes sy s Tt

7+4+4






